








1 Newton (

o

dT/dt =k(T - m),

Tne1 = Tn— k(Tn = m)



kD

: 0.0081.
2. 25°C 20

28.2°C 20 30.32°C






p(v),



o

| Well-Known Logistic Map

I
2
X ., =ax, —bx,

n

Xn+1 — ﬂ‘xn (1_ Xn)

2
n

X .1 =1— uxX

n+



Logistic map






h ot N(1).

rN
= K (K=N)-h
K h
dN  _ N _
i =0,  (K=N)-h=0, (1)



;I h>rKk/i4 . dN/dt<O,

h=rK/4



o

I h < rK/4

(1) NZ1,N2

N1=(K - K2-4Kh/r ) 2 , N2=(K + K2-4Kh/r ) 2

dN/dt = - r(N = N1)(N — N2)/K



o

N<N1 ,dN/dt<O0;
N1<N<N2 ,dN/dt>0;
N>N2 ,dN/dt<0
,N=N2
N1 h N1
h ,



60000 0.01,

25 =300 . 900



X Ak
R=0.01,
Ak+1=(1+R)Ak— X
Ao = 60000

Az0=0



1996










1.22 x101/(1.22 x 101 + n).

o

4 1 4
5.07,11.55,17.86,
22.99( ) 0.8(1/ ),
A
1.109x105 ( ) ,



13mm

0.42:1



1)



2)

122, 29.7,10.1, 3.29 (x10°






[t,t+AL]

N(t) — N(t+ At)

IN(E) — N(t+ AD)]/ At.



o

[N(t) — N(t+ At)]/ At=gN(t)
At At—0

dN/dt=-gN,



1.2



3 ° (1 )

80%
80%









-

Scheafer



o

Mathematical Witcom C/C++

()









(

)



(

1.

2.

)

A

1,2,3,4



;II()

1. 3,4

3. 3
1.109x10°

/

0.5x1.109x 10° / 4

1.22x101 /(1.22 x10M +n).



0.42:1;

3,4






0,1,2...

t
[0,1]
Ni i R+
r 0.8 1/
n Rt
Es 3 R 1/
E4 4 RT 1/
o 3 0.5x1.109x10°  /
o 4 1.109x10° /

B R



o

1,2 ,
dNi/dt= - rNi, i=1,2
Ni(t)=Noee
T i T+1 1+1

Ni+1(T+1)=e " +Ni(T)



3,4 ’ )

o

dNi/dt= -(r+Ei) *Ni i=3,4
Ni(t)=No «e = No i |
, t Ei *Ni(t),

2/3
N _ Ei -2/3(Ei+r)
-, EiNit)dt= ey No(l—e Y )



dNi/dt=-rNi

Ni(t)=Noee It
i
1 i
Ni(T) g -(r+E 213

(NI(T) e Q- (r+Ei) 2/3 )e -3 =@

(2)

3)

° NI(T) Q" Ei 2/3



N(T+1)=0lz-N3(T) € - ("E923+ Olg Ng(T) € - (B2

1.22x10" n(T+1)

1(|T+l): . 0 )
N2(T+1)=e "-Ny(T)

(4)
Ns(T+1)=e "-Nz(T)

N4(T+1): Ns(T) o ~(rEs23) L \ 4(T) o - (r+E4273)

Es=0.42 -E4

Ni (T) - (FE923 i






;Im T

I
N=0L3 N3 e- (r+Es3)2/34 Ol4 N4 e- (r+E4)2/3

N, = 1.22x10™
= 1.22x10"+ n

N2=e-T N1

(4)
Ns=e N

Na= N3 e "= +N, ¢ "=
Es=0.42 -Es



Ni i
"
N1

1.22x10%n N,= e x1.22x10%n
1.22x10%%n ! 1.22x10%%n !
Ni= &~ 1.22x10" n N 1.22x10™ x n xe ~(2/3E3+3r)
1.22x10"%n ! (1.22x10"%n) (1 — g -(2/8 E4a+r) ) *
B x N

n=
1.22x10™%n
129x10 e -(2E3+2E4+11r)/3

B=0t3x1.22x101xe “ZE*38) 1 5 ey



| AR

N=

o

1.22x10"%n

3> 1.22x10"  n=p -1.22x10**  n=0.

3< 1.22x10"  n=0.

, , (4)

_ B x n(T)
n(T+3)= 1.22x10"n(T)
B -1.22x10"- n(T)

N(T+3) =n(M=n(T) ") yox10n(m)



o

B>1.22x101 n(T)<P-1.22x101 ,n T

B>1.22x101 n(T)>B-1.22x101 .n T

n(T) ,
B - 1.22x10%! (N1, N2, Ns, N2)



o

I
B<1.22x10 n T
) n:O1

,n=p - 1.22x101!



o E. E.
B
(1) ;

Weight(E4)=max 17.86Ns ..

oo (1 e2(Esn)i3)

+22.99Na = (1—e2Eni3) 0

E4+r

3.88707x10" |
E4=17.3629,E3=7.292. :
N1=1.19599 x10*" N2=5.37394 x10"
N3s=2.41467 x10" N1=8.39538 x10'



e

(4),
(N10,N2o ,Nso ,Nao )’ ,
i (N1i ,Na2i ,Nsi ,Na4i )’ E4
Nji ] i



o

|
(1) :

4
Weight(E)=( XNsi) 17.86 £oor (1—e 2E*3)
1I=0

_ E4 -2(E4
+(§ Ni) 2299 _=F  (1—e 2E+n73)



Weightmax:1.6057><10 :

Es=7.3836,E4=17.58

W1=2.34401 x101 | W2=2.14852 x101!
W3=2.46276 x10t |, W4=3.77825 x10!
W5=3.82216 x10 !






o

E4=0(
(4)

N1=1.21981x10% ,N2=5.48098 x10%!

N3=2.46276 x10'' ,N4=2.00953 x10!



o

I
(4),  Ni(T)

Ni(T)>0.7010Ni.

A



(

)



()



(

)






o

1 Runge Kutta Rossler
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